

$$\therefore \vec{a} + \vec{b} = |13|$$

$$(\vec{a} + \vec{b})^2 = 13 + 2ab = 25$$

$$\therefore a+b=5$$

$$\therefore a+b+c = \underline{5+\pi}$$

$\Leftrightarrow 3 - 6y + 3y^2 < 1 + y^2$

$$\Leftrightarrow (p+q_i)^2 = 5$$

$$\therefore |p+q_i| = \sqrt{5}$$

$$\therefore p^2 + q^2 = 5.$$

①, ② 5)

$$\frac{3-\sqrt{5}}{2} < y < \frac{3+\sqrt{5}}{2} \dots ②$$

$$\begin{bmatrix} 3 \\ 1 \end{bmatrix}$$

$$\therefore \frac{3-\sqrt{5}}{2} < y < \frac{3}{2}$$

$$\begin{bmatrix} 4 \\ 1 \end{bmatrix}$$

$$= \frac{69}{2} \cdot \frac{\sqrt{2k-1}-\sqrt{2k+1}}{-2}$$

$$= \left(1 + \frac{1}{1}\right) \left(1 + \frac{1}{2}\right) \left(1 + \frac{1}{3}\right) \left(1 + \frac{1}{4}\right) - 1$$

$$= \frac{2}{1} \cdot \frac{3}{2} \cdot \frac{4}{3} \cdot \frac{5}{4} - 1 = \frac{4}{1}$$

$$= \left(1 + \frac{1}{1}\right) \left(1 + \frac{1}{2}\right) \left(1 + \frac{1}{3}\right)$$

$$\begin{array}{l} f(x) = \frac{1}{4}t^2 - 2t + \frac{4}{t} - \frac{8}{t} + \log_2 t \\ \quad \downarrow \\ \begin{array}{l} \frac{t}{2} + \frac{2}{t} = u \text{ と } \\ \therefore 3 - \sqrt{5} < x < 2 \end{array} \end{array}$$

(3)

$$P(x) = x^2 + 4x + 2x^3 + px^2 + qx + 1$$

$$\begin{aligned} f(x) &= (k^2 - 2 - 4k + \log_2 k) \\ &= (k-2)^2 + \log_2 k - 6 \end{aligned}$$

$$|P(x) + q(x)| = (k^2 + 2k + 3)Q(x)$$

$$+ ax + b <$$

$$= \frac{1 - \sqrt{21}}{2} = -5$$

$$= \left(1 + \frac{1}{1}\right) \left(1 + \frac{1}{2}\right) \left(1 + \frac{1}{3}\right)$$

$$\Leftrightarrow \min f(x) = \log_2 0 - 6 \geq 0$$

$$\therefore Q \geq 2^6 = 64$$

$$\frac{Q+2b+54}{6} = 13$$

$$\therefore \min Q = 64$$

$$-(k^2 + 2k + 3)Q(x) - Q(x) - b$$

$$= (k^2 + 2k + 3)[Q_1(x) - Q_2(x)] - Q(x) - b$$

$$= \frac{6}{6} = 1$$

$$= \frac{2}{1} \cdot \frac{3}{2} \cdot \frac{4}{3} \cdots \frac{21}{20} - 1$$

$$= 20$$

$$\log_3 9 + \frac{\log_3(1+y)}{\log_3 3} < \log_3(3+3y^2)$$

$$= \frac{6}{6} = 1$$

$$\Leftrightarrow \vec{a} + \vec{b} = |26|$$

$$(2k-2b)^2 + 2b^2 = 26$$

$$\Leftrightarrow 3b^2 - 48b + 180 = 0$$

$$\Leftrightarrow b^2 - 16b + 60 = 0$$

$$(b-5)(b-12) = 0 \quad b = 5, 12$$

$$= \frac{1}{12} + \frac{1}{13} + \frac{1}{14} + \frac{1}{23} + \frac{1}{24} + \frac{1}{34}$$

$$= \frac{1}{123} + \frac{1}{234} + \frac{1}{124} + \frac{1}{134}$$

$$= \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12}$$

$$= \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12}$$

$$= \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12}$$

$$= \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12}$$

$$= \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12}$$

$$= \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12}$$

$$= \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12}$$